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2019 (A) A
SSC PART-l (10th CLASS) //

GENERAL MATHEMATICS GROUP-| —onf Pl
TIME ALLOWED: 2.40 Hours SUBJECTIVE {Le 10 = &
MAXIMUM MARKS: 60 60 = A
NOTE: - Write same question number -g(,»uf;./.glrﬁé L»/;im/dlrm/géb’dli -2

and its part number on answer book, as given in the question paper.
SECTION-I ;Jﬂ

2. Attempt any six parts. 12=2x6 -_é_//‘..-.yzélzlgc.df 2/
()  Define Surd Ll )
(i) I P(x)=2x" + 2x> + x =1, thenfind P(-2) AP P(-2) MP(x) =22 + 22 4 x -1 (i)
(ii) Sowve. (ab - A b)’ (ab -V )y A (i)
(iv) Whatis meant by Remainder Theorm? el (W)
(v) Factorize x3+y—ry—x x3+y—xy—x -va'l‘. (v)
(vi) Resolvein factors, ¢ + 6bc + 9b% - 16x2 ? + 6bc + 957 —16x2 _u_‘“\ﬁ.;,,de 2 (vi)
(vii) Find H.C.F by factorization. 6pgr, 15grs 6pqr, 15qrs -qfr»"‘r"'zwi-gzl. (vil)
(viil) Find L.C.M by factorization. 3a*h2c?, 5a2p3e’ 3a*07 sa03S .y o P oenssias (i
(ix) Findthe LCM of VD 12p°%% 8p%gr® | ap’’r  (ix)
apier, 8p%gr’ and l2p“q2
3. Attempt any six parts. 12=2x6 a.‘-.'//,u,’élmaéf -3/Jlr
()  Define Linear equation and write its standard form. -!wr‘UA»JJ’»th/‘Ju'JVJ’ 0]
(i) Sove 10x-1_, Lt S T
2x+ 5 2x+ 5
(ii) Soive. x+3<7 x+3<7 LA iy
(v) Define Quadratic equation. FEafleiidm ()
(v) Solve by factorization. 2 — 6x + 5 = 0 2 —6x+5=0 S E2n ()
(v) Solve by factorization, 3x2 — 8x ~3=0 3 —8x-3=0-JASf2n ()
(vil) Define Equal Matrix. Za A (il
(vilj) Define mutiplicative inverse of a matrix. LAY AL (il
() Addmatix 4 and matix B Au[i :] g=[ ’2 2] ZO B Jin A ()

( é' (}Jl )



N )

4, Attempt any six parts. 12=2x6 / [” ) é//.,w&mc.df oA
(i) Whatis meant by Straight Angie? v;.,:/w.».”.,u (i
(i)  Two angles are supplementary and r.f:m,( Ll -4 30° cLﬂ:L:’.a‘/'kzﬂ.}'de’é.ﬁm (ii)
the greater angle exceeds the smaller by 307 How many degrees are there in each angle?
(ii) Whatis meant by Parallel Lines? Sedpe b (i)
(iv) Drawa circle with centre 0 and radius 5 cm. A5 Sy A 0 SR ekl (W)
(v) Define Alltude of a Triangle. SISl et )
(vi) What is meant by Pythagoras Theorem? e sl ()
¥ b=4 4 a=3 Lﬂ?luﬁ\ﬂ.ﬁu/(}" (Fs)c d“' /(J.MJW (vi)
(vii) Find the third side ¢ (hypotenuse) of right triangle when its two sides are a=3 and b =4
(viij) Find the distance between the points (21), (-4.3) E Pl Wit (v
(ix) Define Colinear Points. LSaAlEE ()

SECTION-| 7

NOTE: - Attempt any three questions.  24=8x3 -é_//'.-,uzé.:.wrdc.él B,

5.(A)

(8)

6.(A)

(8)

7.(A)

(B)

8.(A)

(B)

9.(A)

®)

If x =5 + 2 then find x+%and <2 +;13 -é(}",,c".:b(xz +-xlz-n’x+—l; Mx=v5+2/ (Jh).5
o,
Factorize x° + »° L/é\ -5{67’({ 2+ (L)
/,
Find H.CF by Factorization.  «2 2 2 Jsfan (G
CF. o XT3 +2, X+ dx 3, Xy Sx+4 /! Wedfas ()6
&
Ix-4| 4x-27 3x 4x - 27
Sorve[zx - ] =2 _; x-[zx-_gd,}= 203 il ()
Solve by using quadratic formula, (x=1)(x+3)-12=0 Sl K (0.7
Construct a square whose each side is 5 cm. HHE 5 o‘}(&z..hd/..ﬁ (<)
If B= [ v ]thenﬁnd B! S B"?n8=[ x '4] A (.
3 =2 -3 -2
Use Cramer's rule to solve simultaneous equations. 4/()".20’ e EJEiS (L)
x+3y=1, 2x+8y=0
Find the area of the Washer whose UK 13 ARG 15 Bluibal Lk (.9

external and internal diameters are 15 ¢cm and 13 cm.

AHEBA C(4,3) o 3(6.2):4(2,4)&!5._5..-;.1‘ (&)
Show that points 4 (2,4), B(6,2)and C (4, 3) are collinear,



PAPER CODE 2019 (A) ( 7/ A

NU'MBER: 3261 SSC PART-Il (10th CLASS)

GENERAL MATHEMATICS GROUP-I ke - .r;/‘ ‘f’p‘) 7.
TIME ALLOWED: 20 Minutes OBJECTIVE ;ﬁf‘w w220 = oy
MAXIMUM MARKS: 15 15= AF

Ao & J;Lfo)uwvf..,.li.ym-_u: u;}bfz‘ra'c.bcdr/;{(éb’dw SLi DsCB.A Szl Z vy i
PSS Y] -“..\,ppd’/:’d'u‘ar‘gﬁ_/:‘é Izt -‘ﬂl%'iuﬁ\ﬁ-lu’\{.b& PO L./Uu»;ln:y‘--{’ s
Note: You have four choices for each objective type question as A, B, C and D. The choice o
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result In zero mark In that question. Attempt as
many questions as given In objective type question paper and leave others blank. No credit will be awarded
In case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 i i = | /:/le

(1) Y3 =43 isasurdoforder < Ya=43 (> (1)
(A) 0 (8) 1 (C) 3 (D)%

{2) (a+6)2 -(a-b)y2 =2 (a+bP —(a-b%=2 (2
(R)2( a® + b?) (B) 4ab (C) - 4ab (D)a? + b2

(3) Factorization of x? + xy is:- < Pemy @
(A)x(x+ ) (B) x(x-y) C) 2 +y O)yx+y

(4) A cubic polynomial is of degree:- ‘ kGl ()
(A) 0 (8) 1 (€2 (0)3

(5) HCF Of 12pg, 8p%g is- < kK 12pg, 8p%  (5)
(A) 4pg (8) 407 (C) 4pg? (0) 4p%

(6) Foreach number 'x' the absolute value of 'x' is denoted by:- v'.,,f.r)}tb'f.-.f\}“‘d’ 'x' g (6)
(A) x (B)-x () || AD)0

(7) The solution setof |x|=9 is- Teea¥ Ix1=9 (@
(A3} (8){9} © {39} 0 -3.-9 }

(8) The number of techniques to solve a quadratic equation is:- AL S I g (8)
(A) 4 (®8) 1 (C) 2 (D) 3

(9) The soluion setof (x ~ 2)% = 4 is- i (-2 =4 g
(A) {o,4} (B){-6.2} € {-6,-2} (0) 2.6}

(10) OrderofMatix [2 3 4] is- <€ [2 3 4] 5 (10
(A) 11 (B) 3x3 () 1x3 (D) 3x1

(1) If 4" =~ 4 then A is called:- gkl A A =-a S m
(&) Symmetric Ji5 () Skew symmetric S5/ (C) Transpose 5/ (D) Square Matix ity

(12) The sum of the angles of a triangle is:- -f-b‘ﬂ‘f ilel  (12)
(A) 90° (B) 180° (C) 270° (D) 360°

(13} The Medians of a triangle are- -Slrgbalal  (13)
(A) Concurrent 7, Bl (B) Colinear BF (C) Non Concurrent 547 (D) 4

(14) Volume of a cube with edge " is- o WRATKSL (14)
(A) ¢4 (B) 3¢ (C) ¢ o) £

(15) Paints which do not lie on the same straight line are called:- LW nzgeLinsie)  (15)
(A) Coflinear B (B) Non-collinear i/ (C) Equal (sl (D) Zero

34(Obj){ 37 )-2019(A)}5000  (MULTAN)



2019 (A) { {4 ) 2y

3 SSC PART-II (10th CLASS) =t
GENERAL MATHEMATICS GROUP-II s < o/ Ty
TIME ALLOWED: 2.10 Hours SUBJECTIVE .EL» £a10 = =
MAXIMUM MARKS: 60 60 = AF
NOTE: - Write same question number -q_b/)‘)‘-';-{..!'rﬁs{ 6/’/:":2/”/1)!;@{@5@':: O

and its part number on answer book, as given in the question paper.
SECTION- Ji.e

2. Attempt any six parts. 12=2x6 -gi:,/f.-,glx[.wqc.df 2/
(i)  Simpiify. (E+m)y(L=m)(+m) (€ +m®) £4 0
(i) Simplity. (3 -2)(5-5) (VB-2)(5-45) &4 i)
(i) Define Real Numbers. ZaAE i)
(v) Factorize. x* — x - 156 2 -x-156 -Z6f W)
(v) Factorize. 2a® - be - 2ab + ac 2a* ~be-2ab+ac Lbfin (V)
(vi) Define Cuble Polynomial. LA W)
(vi)) Find H.CF. by factorization. 4abe®, 8a’be dabc®, 8adbe -ErPwd LSt i)
(vii) Define LCM. LA (vii)
(ix) Find LC.M. by factorization. 8p2gr>, 4p24°r 8p%¢r, 4p%¢% :;,{r}vﬁwu,g_,w[ (ix)
3. Attempt any six parts. 12=2x6 Eifelrlinge 3 30
() Define Linear Equation. Lo
(i) Solve.|3x+4|=9 |3x+4|=9 &S (@)
(il) Sove. 3(x+5)>2(x+2)+8 I(x+5)>2(x+2)+8-&L i)
(v) Write the names of methods to soive quadratic equation. ENEGBIEL S Wi ()
(v) Solve by factorization. 5x = x> + 6 se=x2+6 U/SLvs W)
(i) Solve, 2x+4=%-l 2x+4=;-l £ W
(vii) Define Rectangular Matrix. LA™ i

2: 3Y[=1 3  3T=1 3 :
(vili) Fiﬂdmeptoductof[I _2][ 3 1] [1 -2“ 5 l] -é(:"’-,-—nﬂ {viil)

: 25 |

(i) IfA=[§ :] Jdhen find det A .gfd".-.fg,( detAd . A=[6 8] A (ix)

(2’.‘&”)



(2) .

4. Attempt any six parts. 12=2x6 -g,{_//.:«',‘ﬂﬁ'l‘."i:-dl( Y
() Define an Obtuse Ange. ~ WA )
(i) Wite the equation for the given triangle and find the value of x / R;(&JJ ¥ Heofaltds i

%° ki

X

(ii) Define Congruent figures. JLlaAlede i
() Define the arthocenter of the triangle. SISk ()
(v) Draw an equilateral triangle with length of each side & cm. S 6 B bl sied (W)
(v) Define a Cube. LS PAE i)
(vil) The sides of a right triange are 5 cm LIBIEn g 12 WHEE 5 L sl (Vi)
and 12cm.  Find the hypotenuse,
(viii) Defing a Line Segment. LIPS (i)
(i) Describe the location of (8. -3) on the number plane. St { (3,-3) (W)

SECTION-lI (.2
NOTE: - Attempt any three questions.  24=8x3 -g,{_//aglzL;UlMc_Jf NOY )

5(A) Prove that [z+%]z-[z-l]2= [z+l]z-[z-é]2=4 et ()5

Z
(B) Factorize. 2* - 2% +16 &/\S‘ ) Zi- 22416 -d’hd)sz ()
/,

@) -
6(A) FindtheHCF bydvisonmethod.  4x° +2x% — 6x, Qx&- sx+d I (08

(04
(B) Soveandcheck [7y—7- [x—4=2 ,/2}—6—1 W“Z_‘a =2 b (L)
7.(A)  Find two consecutive posifive odd numbers such o T4 sANUP L FE PR GbeS Sl (T
that the sum of their squares is 74. .
(B) Construct a square whose one side is 5 cm. 228 5 Usesndrd ()

4 2 23 -1 2 =
A=[o 0]‘ B=[-2 4]'C=[ 4 2]ﬁ A(B+C)=AB+4C EJ4 ()8

. 4 2 > ) | =12
8.(A) Verfythat A ( B+ C )= AB +AC where A=[0 0]’ Bx[_z 4],(::[ 4 2]

(B) Solve by matrix inversion method. Ix+2y=10, 2y-3x=-4 et ik ()

9(A) Find the area of triangle if Base = 8 cm, Gid=15em wsf=Bom Jgpbakets (.9
Alttude = 15 cm

BBBEC(4,3) 4 B(6,2) A(2,4) gt (L)
(B) Show thatthe points 4( 2,4 ), B( 6,2 ) and C( 4, 3 ) are collinear.



PAPER CODE
NUMBER: 3262

GENERAL MATHEMATICS GROUP-II
OBJECTIVE (f».0

TIME ALLOWED: 20 Minutes
MAXIMUM MARKS: 15

2019 (A)
SSC PART-Il (10th CLASS)

L113) A
g
'/”"?”f (ﬂ/dﬂ

20 = =N
15= AF

Sepit ﬁkﬁ/’bﬁ#&&&.’_uuu:.bt wﬂ)ﬁé)&bLJrﬁ{Qfdu! -u;({.: DsC.B.A .&Mk&d‘rj -
{542 -(‘-‘.‘h‘ﬁ’/?&/\.ﬂ%f-ﬁi l:);?h -ﬁaﬁMuﬁJ&aﬂ‘L& Sy [t L/Ju’}bupc_-_ﬁ -5
Note: You have four choices for each objective type question as A, B, C and D. The cholce BT o
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded

lacNaou’!UBBLEa are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

M (a+8)~(a-b) =2

(A) 2(a? + b?) (B) 4ab
(@) @® ~3ab(a-b)-5% =2

(A) a* + 5 8 (a+b)
(3) Alinear polynomial is of degree:-

(R 8) 1

1 /,"Jlr
(a+b) -(a-b) =7 (1)

(C) —4ab 0) a? + »?
a® -3ab(a-b)-b' =2 (2)

©) o -5 (0) (a-b)°
<k dFinf @)

(C) 2 o3

-&'JJP(”);{—NKF(? a éégﬁffax-a&/:"fq. nx1 ..w(u’:l’(x)(?/,g/" (4)

(4) Ifa polynomial £( x )of degree n > 1 is divided by(

(A) Remainder (i (B) Zero
(5) HCFof 12pg, 8p%gis:

(A) 4pq (B) 4p%g?
(6) The symbol > stands for--

(A) Greater than &l

(C) Less than o equal tog <zt
(7) Soluonof |x—1|=4 is-

(A) {5, -3) (B) {-5,~-3)
{8) Solution of x* ~ 5x + 6 = 0 js:-

(A){3) B {2}
{9) Solutionof x* -9 =0 js-

(A) 19} B) {£9}
(10) In & unit matrix diagonal elements are:-

(A) 3 (B) 2

(1) Inasquaamtrixmenumberofmandco!umare:-

(A) 2x3 (B) 3x2
(12) Two angles with common vertex and a common side
are called:- (A) Vertical angles .sis1,

'x — a'where a is any constant, then p ( g )is-

410 1 (D) a

¢ 12pg, 8p%  (5)
(0) 4p%
<> o (§)
(B) Greater thanor equal to ¢ izlite

(63'3433

(D) Equal to ¢ 42Z
¥ | x-1|=4 (1)
€){-5.3) (D) {5, 3}
e AP -5x+6=0 (g
© 12,3} (0){-2,-3}
el -9-0 (9)
(€3} O {3}
BLAKILAESEIN AL (10)
()1 © 0
GO L SRS, (1)
(C) Same yLt (0) 2x1

UL wSPAdmnSBR P (12)

(B) Supplementary angles ¢ 154" (C) Adjscent angles & 4145 (D) Complementary angies & ¥

(13) The angle bisectors of a triangle are:-

~Slnsntlygil ol (13)

(A) Concurrent #7¢ (i (8) Collnear 4% (C) Perpendicular hy*,2L2 (D) Non-concurrent Sifd

(14) Area of semi-circle is:-

(s ®) x /2
(15) Paint on the axis do not lie in any:-
(A) Plane 5=~ (B) Line &

.q,t‘lefu'*;.id' (14)

(C) =2 (D) 2n r
b By (15)
(C) Quadrant &, (D) Circle » 4

36(0bj)( T7)-2019(A113000  (MULTAN)




